Due January 15 Complete the 10 problems. Choose the strategy that works for you.

1.
There are 22 girls and 10 boys in the lunchroom. How many fewer boys are there than girls?



2.
Ryan has 84 crayons and Rob has 66 crayons. How many fewer crayons does Rob have than Ryan?



3.
There are 46 sunfish and 12 catfish in the pond. How many fewer catfish are there than sunfish?



4.
Rob has 85 crayons and Gail has 31 crayons. How many fewer crayons does Gail have than Rob?



5.
Walker has 71 ribbons and James has 56 ribbons. How many fewer ribbons does James have than Walker?




[bookmark: _GoBack]6.
Cara has 67 crayons and Calvin has 13 crayons. How many fewer crayons does Calvin have than Cara?



7.
There are 89 salmon and 58 sunfish in the pond. How many fewer sunfish are there than salmon?



8.
There are 39 tigers and 14 lions in the zoo. How many fewer lions are there than tigers?



9.
There are 70 ladybugs and 16 ants in the garden. How many fewer ants are there than ladybugs?



10.
Hope has 52 pencils and Scott has 13 pencils. How many fewer pencils does Scott have than Hope?
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